IPv4

EDNS0:4096 EDNS0:1232 EDNS0:512

IPv6

EDNS0:4096 EDNS0:1232 EDNS0:512

Dual-Stack

EDNS0:4096 EDNS0:1232 EDNS0:512

1

dnssec-v6-%D4P_client_edns_fallback
V

EDNS0:512 EDNSP:1232 EDNSP:4096

IPv6

EDNS0:512 EDNSD:1232 EDNSP:4096

Dual-Stack

EDNS0:512 EDNSP:1232 EDNSP:4096

TTTT TTTT

TTTT

1

TIrrr TTTT

TTTT

1

TTTT TTTT

TTTT

LA | G0 | 0097 | 4077 74427 | NN\ | 9074 | 4277
VAR AN 2 R Y 7 AW/ ) NN WA AR A
AN AR R W AR NNW | 4% | L/
Y/ /AR Y/ AN/ R R AN W\ | AUV | 20
LA | G007 | 10907 | 4077, 74274 | NN\ | 907 | 4477
YLLo | LI | LILO L | Ll LAt NONN | A7 | L7
LSS LI | DAL | Lo se 127777 NN | 4ZA | LY
YIS LIl | A Lt ds WNN | o7 | 2477
LG07 | QLG | A7 | 97497, 797%7 | NN\ | 247 4747.7.
V0 //Zf/// Yl | 1Aty | Yt/ NN | w277 ///’///
V1427442 | D207 | LA | Yol L0y NN\ | ALy | Y
VA AN/ /AN 2 VR R A AV Y NN | U207 | /A
GOLL | A | G | 7927 | 4077 | - NS /AN
AV o 0//7’/ VA VAR A ANNNNY /////// Y
VAR A R AW ) NN WA AN
OIS LIV LAY | Lhr s 7277 NN | 4477 | L7
GLOLGL |\ L9006 | G900 | 427 94247, | N8N | 42447, 749427
LLILIL | SIS | (LAl | LAV | 10ty NN\ | A%y | Y
DALY | L7107 L2007 | 7L L7, NN | A07 | 47777
(/AW VARV /R W YR A 2 NN | A7 | Lt
|
NONNN [ NONON [ ONNN | NONON (SN | ANNNINTINNRNNNE [ ]|
TNNNN | ONON [ NOANN | ONQN [ NNNN | B NONN [ AN\ ([ EEE
NNON [ NONN | NNQN | ONONN | NN\ | mEEE NARNNIRNNNY ]
LA | G000 | 4070 | 4047 74227 | NN\ | 907 | 44277
/) /////// VA ///’/// Yl NN | A7 | 7777
LA LY | LS | LY 747 NN | LUl | LY
VAR VAV 7/ A RV /AN NN | Y7 | 277477
LU0 | GO0 0| 907 | 4444, 7727 | NN\ | o7, | 42474
YLL | L7 | Y/ '//ZQV/ Y77 NN | Yo% | s
LG | LAD 0 | AL | Ytr s 077, NN\ | LA | Yl
YL LA LAY | 70l S0 Y W\ | A7 | /7
HER
1
N\ NANANEINNANN TN NN AN N IINNANN N INYNRNNNN H | XONN [ ONNN |
L LI LI LI L LI L LI L
QF\SS&"? gﬁﬁg gﬁﬁg_"? gﬁ‘m‘g QFGKS&_"? QKS&‘E QF\SB&? gﬁ‘m‘g QEKS&"?
oggz 8885 3383 8885 3383 3883 8885 3885 3883
TSN T[N T[N T[N T[N T[N T[IN T[N T[N
S ® S ® S ® S ® S ® S® S ® S® S ®
E'UE S'UE 5'02 Evf E-UE S-UE S'UE EUE 5-02
[ c<s c<S [ [ (== (=) [ c<S
84de 8de 84 S S o4de 8de 94
2 S2 o= g2 oS ©= g2 ©2 o2
= 5 = 5 ! 5 5 5 =
[ Cc [ Cc [ Cc [ Cc [
o o o o o o o o R

1500

1280 PMTUD

1280 (n

Path1280 noP TUD)

1500

1280 PMTUD

1280 (n

Path1280 noP TUD)

1500
1280 (PMTUD)
1280 (no PMTUD
Path 1280 (no PMTUD)

1500

1280 PMTUD

1280 (n

Path1280 noP TUD)

1500
1280 (PMTUD)
1280 (no PMTUD
Path 1280 (no PMTUD)

1280 (no PMTUD

15
1280 EPMTUD
Path 1280 (no PMTUD)

1500

1280 (PMTUD

1280 (no PMTUD
Path 1280 (no PMTUD)

15
1280 PMTUDL
1280 (no PMTUD

Path 1280 (no PMTUD)

1500
1280 PMTUDLJ
1280 (no PMTUD

Path 1280 (no PMTUD)

100;X >Y
50

-100; X <Y

log(‘%nssets (X) - %nssets (Y)D

fv)



